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ES Al 1,608,320 1,256,333 351,987
500 X3 1,301,351 1,241,351 60,000
510 = 12X 38 1,301,351 1,241,351 60,000
511 = 12X 3S 1,301,351 1,241,351 60,000
511-03 JI1=2 1,301,351 1,241,351 60,000
< FIF4M > 1,301,351 1,241,351 60,000
O sddsaae| AMBHE ol Z & 40,000,000& 40,000 45,000 A5,000
O sz MBAHE(HSEA) 65,000,000 65,000 0 65,000
700 EMd L SHUEAHN 304,349 12,362 291,987
710 2823 293,709 1,722 291,987
711 A= 273,297 0 273,297
711-01 =ANIAHLAHS 273,297 0 273,297
< BASA > 273,297 0 273,297
O HNEMESSEIH =HNHLNHS 273,297,000& 273,297 0 273,297
712 8EZ01B 3 20,412 1,722 18,690
712-01 =2 D2 X ZAIS XN 20,412 1,722 18,690
< AL > 20,412 1,722 18,690
O ILEXS MELH 23 20,412,000 20,412 1,722 18,690
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